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The Pythagorean Theorem and Ladders

You?" e locked out of your h’duéé and the only open 'window is on the second

or; 25 feet above the ground. You need to borrow a ladder from onhe of your
igl There's a bush along the edge of the house, so you'll have to place the
0 feet from the house. What length of ladder do you need to reach the
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2. There is a building with a 12 ft high window. You want to use a ladder to go up to the
window, and you decide to keep the ladder 5 ft away from the building to have a good slant. -
How long should the ladder be? iy
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' ‘L:_adder needs i bhe 13 Fi long

The Pﬂh-agcire,fan Theoreni’and Baseball

3. :You've just picked up a ground ball at first base, and you see the
oo  Otherteam's player running towards third base. How far do you have to

ft
” . throw the ball to get it from first base to third base, and throw the runner
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Paill needs to be thrown 123,23 FE
| 4.0n a baseball diamond the bases are 90 ft apart. What is the disianoe from home plate to
second base in a straight line? ;
Distence. from home plaje +o! 2™ Base is lat. Z‘Sft.
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